: : Total number of pages — 8
33T POSC

2023
POLITICAL SCIENCE

Full Marks : 100
Pass Marks : 30

Time : Three hours

The figures in the margin indicate full marks
for the questions.

PART-A (F -9%)

Q. No. 1 carries 1 mark each (any six) %6 = 6
Q. No. 2 carries 2 marks each (any six) 2x6 =12
Q. No. 3 carries 4 marks each (any five) 4x5 = 20
Q. No. 4 carries 6 marks each (any two) 6%x2 =12

: Total = 50

PART-B (¥ -9i¢#)

Q. No. 5 carries 1 mark each (any six) 1x6= 6
Q. No. 6 carries 2 marks each (any six) 2x6 = 12
Q. No. 7 carries 4 marks ench (any five) 4x5 = 20
Q. No. 8 carries 6 marks eacl (any two) 6x2 = 12

\ Total = 50

Total (Part A & B): 50+ 50 =100

Contd.



PART-A /-9
( Contemporary World Politics )
(TP [ et )

1.  Answer any six from the following questions : : 1%6=6

F=FRe PR few 269 ve &l 3

(a)

(b)

(c)

(d)

(e)

(g)

(h)

(1)

()

33T POSC

ST [/ G |

In the Second World War, a member of the Axis Powers was the US /
Soviet Union / Germany. (Choose the correct answer)

fasTa feuars o =ifex @3 ey Mg SftE S 3e913 / Giors

How many independent states emerged from the disintegration of
the Soviet Union ?

GISEE 2w A& (2 R HITH 3139 5197 cafeso

In which year 9/11 terrorist attack on the United States was carried
out ?

SRS TERTS 2[T0 (Fie o B/ PRI S e e ?

In which year was Bangladesh born as an inde

5 pendent country ?
@I IFO AT G R AT FA G 2w 2

In which country was the Earth Summit held in 1992 ?
(I BT Sod IXS IFAl AT SHP® 2fm 2

Write the full form of UNEP.

UNEP-3 3=l Sto! fe72i |

Who is the present Secretary General of U.N.O ?

AT IS Ao 24l (P 2

When did Cuban Missile crisis occur ?

(I IS I CFARIE T A0S (2% 2

Berlin Wall was demolished in the year (Eill ;

A o be w9l (3fe | i t%?’;gﬁ

The collapse of which country is known as the collapse of the “
World” ?

(I MBI Ao “fasiy s “feq Zoieet o= ame

Second

[2]

(&% CeRCo! b Bfyeqy)

Answer any six questions from the following :

2x6=12

fsfie exE=e R 5o/9 Ued a8

(a)

(b)

(c)

(d)

(e)
("
(g)
(h)

(1)

()

Answer any five from the following questions :

Mention fwo consequences of the end of the Cold War.

Mhost Ia OI% @R 70! AR S <41 |

Which were the member countries of ASEAN when it was formed in
1967 ? -
Youa 579 ASEAN 13- ANTS FRAGNCGIE 0T ANGR (I NifRe 2
What is the difference between Deterrence and Defence ?

T RIS S efoT=HR Te A0 62

Mention any two areas or regions of the world known as Global
Commons.

AN T I TArEte <RI [P 7o e A FRi

Mention fwo causes of Globalisation.

el 707 TR Srzd 41 |

Mention two economic consequences of Globalisation.

e 707 S1deafos siftens T 4|

Mention tfwo conceptions of Security.

Ral7iel A 4301 701 Qe S 4|

Mention two areas of conflict between India and China.
SIS S blF (e WSS AA 70! (%G i ]|

Write down the names of the Permanent Member States of Security
Council of U.N.O. :

E) 2o s M O o M T st e i s s | I A S ST I G RO

Write two constraints on American hegemony.

TfE oo eofe LB 70! dfogael f& |
4x5=20

FEES e R AvoT ved &l ¢

(a)

(b)

SSINRCSE

Discuss how the policy of non-alignment helped India during Cold
War period.

AMesl Yad RGNS (IF] FRETFoRT (@emE oo TRE SR
S 41 |

Briefly discuss the factors that forced Gorbachev to initiate reforms in
the Soviet Union.
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(@)

(d)

(e)

9]

(g)

()

4.  Answer any two questions from the following :

RS e Riceiear o1 Oed 8

(a)

(b)

(c)

(d)

33T POSC

(FINERE TRCE SABSE (BIfSED 2SHTTS FFE I TS FRAce A4 T30
BT DAl 1 |

Mention fwo economic and fwo military influence of the European
Union. i

TOEAE W 76 ST mﬁmfﬁzﬁ Aelq T 1 |

Mention two areas of co-operation and two areas of disagreement
between India and Bangladesh.

SRS I G Sere A 756! AN O 757 Serend KA B
<4 |

Write a note on the idea of global security.

(I FRIPE 4199 €7=© Gl GBIt 11|

Write a note on the anti-globalisation movement.

iz [ Sewiee [RE 9Bl G &= |

What are the grounds on which India supports the restructurine of
U.N.O. ? Discuss. : &

& gfe fofes oo AT 790m efmmre H52H w@ s i |
Discuss in brief the functions of the World Bank

e @ PGP b0 SICED 4 |

6x2=12

Discuss U.S. hegemony as the World Superpower,

e i Rote SRt IS<1ET FNASR R winatomy <uey
Discuss how health epidemics are new threat to global securi

g TRAIPTR 5 el 4 FRieies @S ToT SRR sy
Do you think that India should be given permanent m
the UN Security Council ? Justify your answer.

©[TOT ALK [Fairel AR 2 AW oW SR wyigsy
(OrR Tesd HoicE I wife «at |

Write a note on the_ principal organs of the United Nations

QBRI o AT @2 @Bl BRel el |

eI’Hbership in

I SR 2

[4]
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PART-B / 2- 9

( Politics in India Since Independence )

( Fificres el9ed Jreiie )
5. Answer any six questions from the following : 1x6=6
Sl e R 2619 ves Bl 8
(1) ' In which state of India, for the first time in the world, a Communist
Party government came to power through democratic election ?
TReE (@I e FATE fooars AL AE I bl ARG 7Ce
sierelfEes A6 T el we R 2
) was the chairman of the Drafting Committee of the
Constituent Assembly. ' (Fill in the blank)
R ToR WAt AR T wifs | (e 912 979 )
(c) Where was the first Summit of NAM held ? :
NAM-AF 23 (BRI Mg AfEe o SHPe (22
(d) China invaded India in 1960/1962/1964. (Choose the correct answer)
B OO T TR SoL0 /5ol / S5u8 56 | (&% TEICh! Jifb Glerad)
() Mention the name of a prominent leader of the Narmada Bachao
Movement.
Tl IHIE TCWIETH G / QIR AS (ol / (A N Trad 41|
1)) When was the State Reorganisation Act passed ?
ey 2feiofon SNBHA (I 51O RS (RfeeT 2
(g9 The Right to Information Act came into force in 2005.
(Writée True or False)
©2 GHIN TERIE iz 200¢ 599 FRL (ZeA | (T (7 ToTey 1)
() In which year the Shah Commission of Inquiry was appointed ?
W7 on% WS (@ e Heel T e
(i)  Who started “Total Revolution” ?
‘S [T (@I S SR
(i) Who was the founder President of Bharatiya Jana Sangha ?
OISl TEd Afewiors Tefe @ wiifee 2
6. Answer any six questions from the following : 2x6=12
sk exza R 2o/ Tes &2
(1) Mention fwo challenges India faced immediately after independence.
TS e ¥ e Sieetd TP (1l 75! ANEH T 9 |
33 FOSE
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®)

(c)

(d)

(e)

()

(8)

()

Mention fwo consequences of the Partition of India.

SI9S [{MOIeTa 75/ AfReis Sz < |

Who was the official Congress candidate for the
in 1969 ? Who won the election ?

>2Ys b qgefS fRRf5Te werare e (I 1M1 2 5t picey
SRS F%e 2 ;

What do you mean by Defection ?

werotel JfercE s gt

Mention two consequences of the Mizoram Accord
>2bY O RS @1 fiteRE pies 701 #IfRefS Srzrey sy
Mention fwo features of popular movements in India.
IR 9Nl ACHTPIRE 757 (QiRe s |

Write two causes of origin of regionalism in India.

SRYTNS YefrmermE Sesifta 701 P 4 |

Write any two features of coalition government in India.

@ﬁwﬁ%@mﬁmmzﬁmﬁw

Presidentia] election

signed in 1986,

(1) Write fwo consequences of 1977 Lok Sabha election.
>0 b (IS A o 7y e el

(7)  Mention two consequences of National Emefgency decla.red in 1975
>29€ BIS (T I SIS SRR S Eﬁfﬂ‘rﬁcﬁ%mw,

7. Answer any five from the following questions : 4x5=7(

BEIGIRCRE T PeTty - - Abr7 Beq fot g

(@) Discuss briefly the causes of the dominance of Congress Party in th
politics of India after independence. / ;
IR P12 S aredifes g e wﬁ%ﬁaﬁaw%%
Rl

(b) V\{}}at werg the major objectives of Jawaharlal Nehru’s fO_reign Policy 7
Discuss briefly. ‘

33T POSC

WWW%%W%%9%
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. rt note on the demands y 1 - India.
sho for autonomy in North-East
ite a short not th an
(c) er\t \:‘ TS TS S - & Sl Bl |

: i litical
Discuss the factors that helped BJP to emerge as a dominant poli
i

(d)
arty. by
%W%Wdﬂs“@‘ﬁﬁwﬁmﬁ ISR \QWWWW
w I | . - -
e) Give suggestions to. curb communalism in India.
e

SReEe AAHFORIT (4 AW A i |

) Write a note on India’s nuclear policy.

Red SRR T erFe @bl GRe & |

: Green
Mention two positive and fwo negative consequences of the

lution. 4 ¥
i%zﬁ%ﬁ@ 76! GIANIE SIS 707 ACNNE Feiiereid [Eed B 41 |
() Write any four features of Indian party system.
1

SRS W TIZE R 5IfEGT ey e

) ing : 2=12
A er any two questions from the following : .6><
nsw 2
refRe ePEd Rl 7019 6 ol 8 |
ﬂ Discuss the changing relations of India with Pakistan.
(@) Dis

G 00 ©IRed ARIETAE A Raca SicEna 4 |

Briefly discuss about the controversies regarding emergency. Was
(b) Brie

e 4+2=6
the er_nergenc\y ne;:s;@ar_!\j:,’;\:;.:\-?G e -
:;{iéwmwmwﬁﬂm? i S L
Explain the reasons for the emergence of the Coalition Polities in the
Indian Democratic System.

SRS SelfEE IO RIS SIS ST FRATZ G120 <641 |
W\ | £

What do you mean by planned development ? Discuss the role of
(d) a

(c)

Zggré_:_gg;s”;g% %ﬁieéi-‘éiﬁi r%;jir;f ;ga;m SR 2;;;3
SlGipill

<

[7]
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